
�J1=G3?
�>T�
1����
M�
����
 �����������
 �����
g
 �

R�

�f,i,g%,

�	7�	�
	
7���	��
γ@�
8�O����
�
��7�����@
���
�7����	�
O���	��
�	7�	�	���Cj��
���7��
��	���D
�����
���8
	�	����	
�����89���
7	�@
8�
 ��	
 i��7��������89�	�	
 	����������
 7��
α@���7���
����
 ������R�x�
 ��S X�
 �RR"W
 n�kRo4
=�@
�	�
 �
8�O����
 ��8	
 �7�����
 ��	����O����
�����	����	
�
���	��
 nuo�
 ���
�
����8�������@
��	�
7���8������
�
�O��	�
��8	�	���	�	
�
�@
��	��������
α@O������
 �
 �	O�����	
 �����
 �
�����
 iMM����
 	���O�
 ��8	
7	8�O��	
 ����@
�����
 �8�
 ���	���	���
 ����������	
 �	��	
@
�	�	
�
8�O����
6�=3:
7��
α@���7���4
���O�@
��
 nuo
 �8�
 ����
 ����x
 7	��
�8��
 O�	
 ���	��@
�	��9
�=3
��D	�����
�
���7�
	��
	�
P�S���ys

�	
P�R���@Q �i�@�����7��@�
7��
�
�������
i������
εγ
��7�������D
γ@�����	�
	�
��
�	
���
�i�4

���	��
 7	
 ��	���
�=3�
 ��7	8������
 �	
����	�j��	
 ��������
 	��	����8��9
 8��	
 ��
��j��������D
 �7�	j����D
 nSkQo�
 8��	
 ��
	O��9
 7�	���D�
 ���9��
 ��8���D
 	�
 ���89�	�
�������
�����	�	
�
���	��������
�	��89��D
7	������8�D
n��k��o4
�
i��D
���	��D
��
�O�@
����8��
�	�
7�����7��89���
M����
O�	
�=3
�	7�	�	�����
 O���
��O���	
 �8	����
 ����@
���
7�	����
k
���7��
��	��	�	
����4
=���
�
�������D
 ���	��D
 n��k��o
 �����	�����
�	@
��89���
 
���O�
 �
8�O����
 7��
 ��������
α@O������
 O���

 �M���O����
 ��������O���
7���	��	89���
���9���
O���

	��O���
��8	@
�	�����
���9��
�
	���
�����
�
���	�	�	�
�	O@

��
��8	�	�����
7	������89���
���9��
�
	��@
����
���	���	��9
M	����	�����
�=3
��
��
@
8�O��D
�����	����D
	�
������
����4

�	
�	��	��9
M	����	�����
�=3
7��
���@
�����
α@O������
������
7	������89�	�	
��@
�9���
	��������
�	���
7���7������
�8�
�
�@
O����
 7	�������
 �	8�	�	�
M������
 �
 ����@
����O����

�7��j���	�
	�8����4

m��7��������89���
 �
 ��	����O�����
 ��@
�8��	�����
�=3
7�	�	8��C���
�
�
���	�
7	@
�8�����
 �����
 n��k�Ro4

�
 ����	�j��
 ���	��
 �
 ����8���������	�
7���8������
7�	�	�����
���O��
	��	����89@
�	�
 ���	���	���
�=3
 7��
 ��
8�O��D
 ����@
��D
���7���D�
�	�	���
�	7�	�	���C���
�	�@
������
 ������D
 O�����
 67	�
 ��������
 O��@
������
 �����
 7	�����9
 7�	�	���
α@O������
�
��8���Cj��
�

����
�8������:4
�
���
�7��@
���
 �
�O�����
 7�	����
�=3
 �
 �8�O���
 �	���
�����
 �����	�
 O�������
 �
 ��	����
 ���	�
�������
 ���89�	�
 �����	�
 �
���	��������4
I��
 7	���	����
 �	8�	��D
M������
 ��O�89@
�	�	
���
������	����	�	
�
�	��O�	�	
�	��	�@
���
 �������
 O��8���	
 ��B�����
 ���������
A���������
 �
 ���8����O�����
 �������
 7	@
������8	�
�
�O��	�
��8	�	���	�	
�
���	���@
�����4
 3��8���C���
 	�8����
M	����	�����
γ@�
8�O����
 �
 ����	�
 �	������	�
 �8�O��
 �

������	���
	�
i������
εγ
�	��	
�	�	
������4

SV��-hn%+oi(�hNcs,jj(�fgo+N,gg,ac
+cN-c&gcac� %&noq,g%O

�����O���
 i8������
 �		��������Cj��
�	��	
�	��
 �
8�O���C
 �����	�
 O������
.�

/0-	123'455'6

0	�	������
�	���������	*�.������./
2���4
0	��α@)��/����	��*���0	������*�	��0���7

`�QRRS�aV��V��V��oNa(n%g)�<V�*V�2of%nuj'%k)��V��V�2oN('cf(

+����� ���7	 �������������#7	�����������

�#0
�! $(4
%^a]e^XZ
�e]W[[aeX�Zd^�� 
\Zd[a]e
_]\X�� 
̀ exax^
_]\X�� 
e]XZY[aY\
̂ d\Z]Xe
̀ xa]^aYXZ[4
I���8	���
��������89���
�7	�	�
��	����O���	�	
���8��	�����
����������	
�	��	
�	@

�	
�
8�O����
6�=3:
�8�
��
8�O��D
���7��	�
����
��
	��	��
���8����O����D
������D
7	@
������8	�4
��7	8����
���O���
���	���	����
�
M	��
�7����	�
�=3
�8�
�8������	�	
���7�@
��
����
��� X
�
��D	�	�
�R"�
�8�
7�	�	��	�	
���7���
����
��P"[
�
�8�
ααααα@���7���
����
���
�x4
3��8��	����
��8���
��
8�O��D
	�8�����
6�����������	��
7	����9���	�
�
7���M�����	�:
�
��78�����
7�	�����

�=34
I�	���	������	����
�8�
	��9
����O�����	�
�
i��7��������89@
�	�
M	��
�7����	�
�=3
�8�
α@���7���
����
����x4

���	��
 O����O�	
 7	��������
 �	��������
M	��	�
M���������89��D
 ���8��	������
 �����
g
��@��@�SSsP4



RP

�J1=G3?
�>T�
1����
M�
����
 �����������
 �����
g
 �

��8���Cj��
 7��
 ���7���
 �����
 
�7�������@
��
���

�
8 
9�� �

6�:

�9� 
@
	7����	�
�
���	��������
�������
���8	@
�	�
�
i8����	���������
7	8���
���Cj��
���2

� �� � �
�		� �� �9 : ( �;

�
6�:

���

λ λ
π

µ
= =

		�	 	 �	�	 	
6 :

� � �
6 : � �

<

=

8>?
@ =�

( ? A = : �
>

6P:

A
�

	

 k
 ����	�
 7	8���
����p
 ��8�O���

λ v l�� @�
	7����8���
����	��C
7	8���
���C
7	8�p
>

	

k
�	8�	�	�
����	�
M	�	��p


�	�� 
k
	7�@
���	�
��7�89��
O������
.p
µ
k
7����������
�����
�������2

� � )
�

�.
�

.

( (
)

( (

�

�

6R:

(
.

�
(

�

k
����	���
O��8�
O������
.
�
�	@

O�����	
�����
)
�

k
�����
���8	���
 ?

	 
k
�	@
	�������
 	��	����89�	�	
 ��������
 O������
.
 �
 �	O�����	
 �����

   
= + −   + +   

6 :

< <

< B
=

 .

. .

( (
@ @ @

( ( ( (

�

�

� �

6u:

k
iMM��������
i8�����O�����

����
n�uo�
�O�@
����Cj��
	��	����89�	�
��������
 ��8���C@
j��
O������
.
�

����	�
@

.

�
�	O�����	
����

�

����	�
@
�

�8�
i8�����O���	�	
7���D	��
��89@

��7	89�	���
<4
 �
 ����	�
���	��
�����������@
C���
�	89�	
��@7���D	���
7	i�	��
��C��
��89@
��7	89�	��9
<
�O�������
����	�
�������4
�
��89@
���B���
 �	���
 ��O9
 �����
 ����
 	
 O������
.�
7	�
���
�����
7	�����9
O������
�
7��������	�
����	�
µ�
	��	����89�	�
�		������	�
 ?	 
�
iM@
M��������

����	�
 6 :<

=

@ 4
F8�
 7	8�O����
 ����	��	�	
 7	������8�

6 :( ?λ

	 	 
��7	89
�����
��
8	�����
 n�uo2

{ }6 : 6 :

�

� � �
<

8>? < < C �

) <) <)

< ) <

A = 8 < ( 8 (λ λπ λ
∞

= =−
= + +∑ ∑ �

		 	 		 6S:

6 :
� p �p

� p �p

�
6 :

6� �:

�6 �:
6 : �

6� �:

�

<) < < < )

< < < )

<
( : >? D

<

<
: >? D

<

π

π

+ +

− −

= −
+

+−
+

	 	

	 6h:

π
=

	 	
6 :

p p

�
6 : �C

<) < < < )
( : >? D 6s:

�

<

)� 
k
�@M������
�������p
 :
<
6>?:
k
�M���@

O�����
M������
5����8�p
 D
	

k
B��	���
���@

�	��p
>
k
�	8�	�	�
����	�
M	�	��
 ��� �6 :> � 4
�	8�	���
 M������
 �	��O�	�	
 �	��	����

�j����
�
����
��
8	�����2

~

�

R
6 : 6 : 6 : 6 :�




E
E 8


 EC EC ? E 
>
E C E


? 8 = D F D F � > ?
> ?

� �
�

� ��

� � � � 	 	
	 	 	

6Q:

���
∆
k
M�
�
����������


>
	

k
�	8�	�	�
���@

�	�
 O������
 .
 �
 �	��O�	�
 �	��	����p
p 6 :? E 
F ? ? � > ?=	

	 	 	

 k
 �����89���
 M�������

��	�8���	��Cj��
 ��������C2

�

�


 ��
� � � �� 


� �

�

�

� �

� � �

6 : � 6 �:
6 : 6 : ��

�
E 


E 


� � > ? E E
� G ? � > ?

�? ?

6��:

I	������8
G6?:
7�������8���
�	�	�
�����
��@
�8����O���	�	
 �����	�	
;

FA�
6?:
 �
 ��8	�	���	@

�	
;
�
6?:
 7	������8	�
 �
 �����
 ����
 7�������@

8�����
��
���4
�4
�	8�	���
M������
 ��O�89�	�	
 �	��	����

6 :8 ?Ψ 
 ����������
 ���2

ΦΓΨ =

�
��

6 :
6 : 8
8

?
? D

H ?
4

> k
B�����
 ���
������	����	�	
 �	��	�����
H
k
��	�	��9
O������
.4

���4
�4
���
��7	89
���	�	
�8�
���O��	�
7	���@
���8�
G6?:
�
���	��������
O������
.
�
i�������
I
.

�
�	O�����	
�����
7�������8�Cj��	
�	�	�
���@

��
 ���8����O���	�	
 �����	�	
 �
 ��8	�	���	�	
 7	@
������8	�4
�

�
8F
�
�

�
JA�
k
����������
�
���B���
�	O@

��
7	�	�	���
 �	�	���
��8��
 	�8���9
 �
�������
?
	�
�
�	
∞
��
���
O����2
������������C
6%:�
7	���@
�9����C
6%%:
�
7���M������C
6%%%:

K������	+L,	&��	αMN	���������"	�	&�������"	���&���$



RR

�J1=G3?
�>T�
1����
M�
����
 �����������
 �����
g
 �

�������
�
8
6?:
�����
�8���Cj��
����7�	@

����
n�So2

+

→

→∞

Φ

Φ +

�

�

�

�
6 :

6 : 6 : 6 :�

E

8
?

8 E 8 E 8
?

? ?

? � > ? 8O > ?
6��:

���
�
E
6>
8
?:
�
O

E
6>
8
?:
k
������8�����
�
����8��@

���
��8	�	�����
M�������

8>
	

k
�	8�	�	�
���@

�	�
O������
.
�
��O�89�	�
�	��	����4
�������
�

8
6?:
��D	�����
7����
O��8���	@

�	
 ��B����
���������
A���������
 �
 
����@
�	�
 i�������
I

.

 O������
.4
 �
 	������	���

����������
�	O��
7	�	�	��
�
�
8F
�
��7	89
	��@

����
 7�	������
 7	��	���
 �8�����
 �����	�	
7	������8�
 6�]ZZ@_]`a�:
 n�So
 7�	�
�	�����
�B������
8	����M��O����D
7�	�
�	���D
���@
������89��D
O�����
M������
���
������	���@
�	�	
 �	��	����
�

8
6?:�
 7	8�O����D
 �

 ��B�@

���
���������
A���������
�	
�����O��D
��@
7���8����D4

�����89���
M������
�
E
6>


?:�
	7�����Cj��

�	��O�	�
�	��	����
O������
.�
�
	�8�����
���
7�����j�����
 ��������
 �����	�	
 7	������@
8��
7�������8�����
�
����2

�
E
6>


?:
v
P

�
O
E
6>


?:l"

�
'
E
6>


?:� 6��:

���
P
�

�
P

�

k
�	��������
���
�����
�
����@

�	�
M�
	�
���������
 δ = � �Xe\a�6 :FA�

E P P 4
I��
? → ∞ 
i��
M������
�����
����
���2

� � � �� � � � �6 : [Y^6 Z^6� : � :4FA�

E 
 
 
 E E� > ? > ? > ? E

�	8�	�	�
 ����	�
 µ= �
�� 



 .> I 
 O������
 �

�	��O�	�
 �	��	����
 	7����8�����
 i�������

γε= − p


. .I I 
 η
 k
 ��8	�	�����
 7�������
η α= p

. B@ @ � H 
α = �
� 6 := � 
k
7	��	�����
�	�@

�	�
 ���������p
 ��8	�	�����
M�
�
σ
E

 �����

���2
σ
E

 v
 Xe�
 >6El�lYη:�
 ���
 >
 6El�lYη:
k

�����@M������4
���	���	��9
�=3
�8�
�����	�
O������
.�

�	����	������
��
	���
���
���7����
����O�@
��������
 7	
M	���8�2

�
γ

γ

π ρ
ε

 
= Ψ Ψ    �

��
�

8 
 


.

�Q
9

�
6�R:

���
 78	��	��9
 �	��O��D
 �	��	����
 ρ



 ����@

������
���2

γ
γ

εµ
ρ

π
= Ω Ω

�

�

S u P
4

6� :




 .

>
� �

�
6�u:

I�	����
��������	�����
7	
��8	���
7������@
���
�
������	�����
7	
7	8���
�����
M	�	@

���
 7	8�O��
 �7����
 �	��	
��D
 γ@�����	�2

γ

γ

αε
ε π

 
=    �

6�: � �

�

s
6 : � � �

P 6 :



=



8.

>�Q
@ C

� � >
6�S:

���
�����89���
�����O���
i8�����
C
�����
���2

∞  = − Φ  ∫ �

�

� �
6 : 6 : 6 : 4E 
 8




�
C � > ? : >? ? �?

> �? ?
6�h:

QV��,NcO+gcj+u�%�PcN-(�jh,'+Ncf����

G�
 	��	��
 ��B�7��������	�	
M	���8�
@
��
�
����	�
���	��
��7	8����
���O���
���	@
���	����
�
M	��
�7����	�
�=3
�8�
α@���7�@
��
����
 ����x�
 �8�
 �8������	�	
���7���
����
��� X
�
��D	�	�
�R
"
�
�8�
7�	�	��	�	
���7���
����
 ��P"[4
 ��
�89����
 ���O��	�
 7�������8�@
��
�
���8���D
�kP4

���
 	�8���9
��������	�����
7	
 ?
 	�
 �
 �	
∞ 
�8�
7	8�O����
�����89��D
�����O��D
i8�@
����	�
C	��
����8��9
��
���
O����2
 %
k
	�
? v �
�	
����������
�	O��
7	�	�	��
�8F

�
p
%% k

	�
 ����������
 �	O��
 7	�	�	��
�8F
�

 �	
 ���B@

���
 �	O��
 7	�	�	��
�JA�
�
p
 %%%
k
 	�
 ���B���

�	O��
7	�	�	��
�JA�
�

�	
? v ∞4
�
	�8����D
%%
�

%%%
��O��8�8��9
���������89���
�=	C
�
���@
���
R)
C
O����
�����O��D
i8�����	��
�
	�@
8����
%
�������
�	89�	
���������89���
O���9
C4
F8�
���8�
�
�=3
7��
α@���7���
��8
�
��
	7��O�����
 7	������8
����������@1iO8���
n�ho�
 ����	8��
 ��7�B�	
 	7�����Cj��
 ���	@
8C����
 �
 	��	����89���
B�����
 7�	����	�
α@���7���
 �
B��	�	�
 	�8����
����
 n�so4
F8�
���8�
�
�=3
7��
�8������	�
���7���
7����@
��8��
�������
7	������8�
�	�	���
���	�8��
7�	�����	�
	��	�����	�	
M	8�����
�


����@
�	O�	�	
 ���8	�@�����	�	
 7	������8�
 n�Qo
 �
D	�	B	
 
����	����	��8
 ����
 7��
���8��	��@
���
 �8�������D
���7��	�
 ����
 n���
 ��o4
 ���@
O���
 �8�
 7�	�	��	�	
 ���7���
 ��7	8����
 �
��89C
���������
	�j�D
���������
7	�������
��8�O���
 D��������
�Cj�D
 �
�O�����
 7�	@
����4
I��
�D
7�	�������
��8�
��7	89
	����
���
 7���7	8	�����2
 ��
 �O�����8��9
 O���	@
��O�����
 iMM����
 �
 7���7	8���8	�9�
 O�	
7�	�	����
���7��
7�	��D	���
�
	�����8�
S

�w�
4

�
 ��O�����
 ��8	�	���	�	
 7	������8�
 �	@
O�����	
����
�	
���D
�8�O��D
��7	89
	��8��
7	������8
 ����	����	
 
�������	�	
 B���
�������
�

�

�
v
��P
(
B

�wP4

�'	0'	-�������N	T'	U'	V����W���7N	L'	X'	V�������



Ru

�J1=G3?
�>T�
1����
M�
����
 �����������
 �����
g
 �

3
�O����
��
��D
	�8�����
M	����	�����
�7�����
�=3
 ����
 �	
�	��	��9
 ������	���9
���7����C
�	8�	��C
M�����C
��
��
8�O��D
�����	����D
	�
������
����4

?��
����	
�

���84
�kP�
��8��

	�8����
%
�

��������C
���	���	��9

γε

�Q

�

�8�
�8�O���
α@
�

�8������	�	
���7��	�
��8
7	
��������C
�
��8�@
�	�
�����D
 	�8������
 �	
 �
 �8�O��
 7�	�	��	�	
���7���
��8�����
��j���������4
=��
���
��8�@
��
	�8�����
%%
�
%%%�
���
7����8	�
7����8���@
C�
���
��8��	�
	�8����
%�
�	
����	8��
��M	�@
���������
��8�C���
7	����9�����
�
7���M�@
������
�������
	�8����4
<��O����
���������89@
��D
�
�����D
O�����
�����89��D
�����O��D
i8�����	�
C
�
�	��	�
i������
γ@������
εγ
�	�	@

�	��	
�����C�2
	���
��������
������
���8��@
����
���
O�	
�		��	B����
�����
��8�����
��
@
��D
	�8�����
7��
�
�������
i������
γ@������
�	���
�
�����9��4
K���j���
��
����
��������
�	�
M����
O�	
���
���������89����
���
�
���@
���
O����
�����O��D
i8�����	�
�	
%%
�
%%%
	�@
8����D
 ���C�
 7�	���	7	8	����
 
�����
 O�	
7���	���
 �
 �D
 �����������	��
 �������	��
��8���
�
7	8��C
���	���	��94
F��������89���
O����
�����O�	�	
i8������
C
�
%
�
%%%
	�8����D
�����
 ���C�
 7�	���	7	8	����
 
����4
 m�	�
iMM���
��
��8�����

��O����
�8�
α@
�
�8��@
����	�	
���7��	��
�	
�
�8�O��
7�	�	��	�	
���@
7���
7���	���
�
�	���
O�	
i��
O����
�����O@
�	�	
i8������
7	O��
7	8�	��9C
�	�7������C�
����
�����4

=��8���
�4
<��O����
����O������D
���	���	����

� �
�


 �
� 
� 

� �

�Q

� 
6�
�i�y�����7��y�:
�	��	
�	�	
γ@�
8�O����

�8�
 α@���7���
 ����x
→
α
 +
 ��S���
 �D
 ���������
 �
 i��7��������89����
 
��O������
 �

 ���	��
 nPo�
 �
�����
��8�O���
�����O�	�	
i8������
U
6�
M�:
�
��
8�O��D
	�8����D
6%kA:�
Iαv u�<
�i�

=��8���
 �4
 <��O����
 ����O������D
 ���	���	@

����

γε

 
   �

�Q

�

6�
�i�y�����7��y�:
�	��	
�	�	
α@�
8�@

O����
�8�
7�	�	��	�	
 ���7���
 ��P"[	→	 �
l
 ����]�
I
�
	Y
 ��QSs
�i��
 �
 �����
 
��O����
 �����O�	�	

i8������
U
6�
M�:
�
��
8�O��D
	�8����D
6%k%%%:

=��8���
 P4
 <��O����
 ����O������D
 ���	���	@

����

γε

 
   �R "

�Q

�

6�
�i�y�����7��y�
�	��	
�	�	
γ@�
8�@

O����
�8�
�8������	�	
���7���
��� X	→	�R1	Z
��s���
I�R

P
	Y
 PP��u
�i��
 �
 �����
 
��O����
 �����O�	�	

i8������
U
6�
M�:
�
��
8�O��D
	�8����D
6%k%%%:4

� �
�


 �
� 
� 

� �

�Q

� γ α
ε

 
   

=
�

�Q

�

γε
 
   �

�Q

� γε
 
   �R "

�Q

�

εγ� 
�i�
�=

C6%:
�=

C6%%:
R)

C6%%:
�=

U6%%%:
R)

C6%%%:
����	�j4

���4 �

nPo

��� ���� �� y��Rs y�R PP P�����yQ 6��P÷��Q:���yQ

��� ���h� S�Q y��Ph y�� s�� P�u���y�� 6���÷P�s:���y��

P�� ���RP R�P y���s yu�S R�� ������y�� �

��y��

R�� ����R ��h y���� yP�h ��P ������y�� 6��u÷R�:���y��

u�� ����� ��S y���R y��s ��SP P�P���y�� 6P�s÷hu:���y��

S�� ����S� ��� y���Qh y��� ���Q u�P���y�P

h�� ����P� ��S� y���SR y��us ���P ������y�P

s�� �����R ��Pu y���R� y��P� ���h� P�S���y�R

εγ�
}i�

�=

C6%:
�=

C6%%:
R)

C6%%:
�=

U6%%%:
R)

C6%%%:

��� y��Ph yu�P ���h �h ySR ��R���ys

��u y���u yP�� ���P S�� y�h R�Q���yQ

��� y���u� y��u ���ss ��� y��� R�R���y��

��u y����h y��hR ���uQ ��QR y���S P�R���y��

��� yu�R���yP y��PS ���Ph ��PQ y���QP ������y�P

��u y��S���yP y���h ����� ���Q y���R� s�P���y�R

εγ�
�i�

�=

C6%:
�=

C6%%:
R)

C6%%:
�=

U6%%%:
R)

C6%%%:

u� yPR y�Q ��P Ph yu� u�R���yQ

��� y�S y�� ��sh �S y�� s�Q���y��

�u� yS�h yu�u ��uP s�� yP�S ��S���y��

��� y��h y��h ���Q R�� y��� ������y��

�u� y��Qh y��� ���u ��Q y��RS ��P���y��

K������	+L,	&��	αMN	���������"	�	&�������"	���&���$



RS

�J1=G3?
�>T�
1����
M�
����
 �����������
 �����
g
 �

<��O����
 ����O������D
 ���	���	����

γ α
ε

 
   

�Q

�

 �	��	
�	�	
 γ@�
8�O����
 �8�
 ���7���

����x
→
α
l
��S��
��D	�����
�
D	�	B��
�		�@
��������
�
��
�89������
���	�
n�kRo4

1����89�	��9
�
7	�������
�	�7	����
���@
��O�	�	
i8������
C
�

������	���
	�
i������
γ@�����	�
7	
�	8���
���8��9
���	�
	
�	��
O�	
�����C
���O����C
�D���
�	��	
�����
 �
��@
7�D	�
��7	89
	���9
�
�
��89���B��

7��
���@
��	������

���8	��O��D
������D
7�	����	�4

K�������
 O�	
 �
 �8���	�	8�	�	�
 7���8�@
�����
 =

		

6 �:8>?= 
�
�O��	�
i����	�	���
����89@
�	�����
 γ

�9 
�	��	
��7	89
	���9
����	�
7���@
����8����
�8�
�����O�	�	
 i8������
 6�h:�
 �	@
8��
��	��	�
�8�
O��8����D
���O��	�2

γε

∞ ∂= Φ
∂∫

�

� 6 :
6 : 6 : 4E 
 8




G ?
C � > ? ? �?

> ?
6�s:

T�	����	
i�	�	
7�������8����
�	��	��
�
�	��
O�	
�	�����j����
�
7	��������89�	�
����@
�����
 
������	��9
 �w?�
 7	
�	8���
 7	8�O��9
D	�	B�C
 �D	���	��9
 ��������	�����
 7��
�	89B�D
?4

tV�.('nbq,g%,

K��	��
�	�	�	
��7���8����
�
��	����O��@
�	�
 	7������
 7�	�����
 �=3
 7��
 α@���7���
��8�

�8	����
�
���	��
nuo4

G���B���
i��7
��	����O����D
���8��	��@
���
 ����������	
 �	��	
�	�	
 �
8�O����
 7��
α@���7���
 	�����O���8��
 �	89�	
 �8�O����
��7	89
	�����
�	��89��D
 7	������8	�4
 �	7@
�	�
	�
�
�O����
�=3
7��
�8������	�
�
7�	@
�	��	�
���7���D
�	
��D
7	�
����
��
�����8@
��4
 K����	
 ���8��	�����
 ����D
 7�	����	�
7�������8���
 ��
��8	����
 �������
 ���
 �8�
��	�����	��
���
�
�8�
i��7���������	�	�4

�
 ����	�j��
 ���	��
 �
 ����	�
 �	O��
 
��@
���
�����	�����
7�	�����
�=3�
7�	��D	��@
j��
7��
α@�
 �8������	�
�
7�	�	��	�
���7�@
��D
��
	��	��
��7	89
	�����
���8����O����D
������D
 7	������8	�4
 �
 ��O�����
 	�|���	�
���8��	�����
��
7���	�
i��7�
��8�
�
���
7	
	��	��
����
�8�
����	�	
 ����
���7���4
K�@
��������
�D	����
O����
�
i��D
7�	�����D
�
	���O���

	�	����	���
����	�	
�

��D4
I���@
8	������
�
����	�j��
���	��
���	�
���O���
���	���	����
 �=3
 7	
�	8�8
 ���	�	
 	7����@
8��9
��8��
����	�
�

	�8�����2
����������@

�	��
7	����9���	�
�
7���M�����	�
�
7	8���
���	���	���
7�	����	�4
I�����7��89���
��@
8�����
 ���	�
 �8�
 ��	����O����D
 ���8��	��@
���
D	�	B	
7�	�������D
��
�����D
 
���O�D
�����	�
M�
���
	7��O����D
�
M	8����@7	���@
���8	�4

1	7	����8����
i��7��������89��D
�
���@
O����D
��8�O��
�8�
α@���7���
��8	
�	
�	�@
�	��9
���8��9
���	�
	
D	�	B��
	7������
7���@
����8���	�
 ��	����O���	�
 �D��	�
 ���Cj�D@
��
�
8���������
�����D4

I���8	������
�
����	�j��
���	��
���	�
��	����O���	�	
 ���8��	�����
 7	
�	8���
 ��
�	89�	
7	8�O��9
�7�����
�=3
�8�
α@�
�8��@
����	�	
�
7�	�	��	�	

���7��	�
�
���9
	�|��@
�����
 ���Cj����
 i��7��������89���
 ���@
���
�8�
α@���7����
�	
�����
���8��9

7���@
���
����
�8�
7	����
�=3
7��
��
8�O��D
���@
7���D
 �
B��	�	�
 	�8����
 ����4
 m�	�
 ���	�
	�8�����
 �	89B���
 �	
�	��	�����
 	�	�j�@
���
�
��
�����4
K�
7	
�	8���
�O���9
�8�����
��8��	�
 8C��D
 ��89��7	89�	����
 �
 �7����
�=3�
 7�	�����
 ���O��
 ��8	��D
 �	���8����
��8���Cj�D
 O�����4
?�	��
 �	�	�
 i�	�
 ���	�
�	���
���9
�
7	�8���Cj��
��7	89
	���
�8�
�
�O����
 7�	����	��
 �	
����Cj�D
 7��
 �	
@
��������
7	�	�	�
γ@�����	�
�8�
i8����	���D
7�O�	�
��
����
�
��89C
�����8��	���9
����@
���
���7����
�����	�������
�
����	�
���	@
��4

;��	��
 �8��	�����
 14
 >4
 ?�������	���
34 14 5������
�
34
�4
?	7�����

�
������
	�@
��������4

1I31K?
L3=J�;=T�z

�4
$�.eeY�x
.4� 
'YXe_Y^X
'4� 
#e]WY^
&4
*4
]a4
XZ4ww
���[4
�]aa4
�QQR4
*4
�
PP�4
�4
�u4

�4
�X[X�Y
 �4�
0XWX�X�Y
,4�
�X[X�YWX
&4
 ]a4XZ4ww
���[4
 ]c4
�]aa4
�QQh4
*4
hQ4
&
P4
�4
Ph�4

P4
�X[X�Y
 �4�
0XWX�X�Y
,4�
�X[X�YWX
&4
 ]a4XZ4ww
�4 ���[4 '4
�QQh4
*4
�P4
�4
�Ru�4

R4
J�����
G4
�4�
?8��	�
14
�4�
1����	�
F4
;4�
=�8��	�
;4
�4ww
I��7����
G33��
�>T4
 ����4
g ����@�hwS��4

u4
5�����
34
14�
?	7����
34
�4�
H����	��
=4 ;4ww
��4
�QsS4
-4
RR4
"4
�RuR4

S4
 �X`]^�ex\�
-4�
 �]ea[\�
'4
 )4
 ww
 ���[4
  ]c4
�]aa4
�QQs4
*4
s�4
&
�Q4
�4
R�R�4

h4
$YX�x^xc
}4
%4ww
���[4
 ]c4
�QQQ4
*4
"S�4
&
P4
�4 �PhS��4

s4
$�X�x^xc
}4
%4�
'xe^�Y
%4
*4
���[4
 ]c4
�]aa4
�QQS4
*4
hS4
�4
PuR�4

�'	0'	-�������N	T'	U'	V����W���7N	L'	X'	V�������



Rh

�J1=G3?
�>T�
1����
M�
����
 �����������
 �����
g
 �

Q4
�]eadZX^Y
"4
.4�
_]
�XdZX
$4
-4�
+]Z]cY^[�� *4 '4ww
���[4
 ]c4
�QQQ4
*4
"S�4
&
P4
�4
�P�S��4

��4
=��8�
J4
�4ww
{m=�4
�QQQ4
=4
��S4
14
PQ�4
��4
-�XZ�X
#4
*4
ww
���[4
 ]c4
�QQQ4
*4
"S�4
&
u4
�4 RRS4
��4
 <	�
54
;4�
?	7����
34
�4�
?����8��
14
F4�

H����	��
=4
;4ww
��������	����
�	�M�������
7	
�����	�
M�
���
 U?8������
 �
 �����	�
M�
���V4
� 1	��j����
 7	
 �����	�
 �7����	��	7��
�
 �����@
����
��	��	�	
����4
14@I�4
����4
14
�QS4

�P4
?����8��
14
F4�
H���89����
N4
�4�
H����	@
��
=4
;4ww
=��
���
�4
RSu4

�R4
'YXe_Y^X
'4� 
#e]WY^
&4
*4� 
�ZYWxc
(4
*4� 
(WYe@
^xc
$4
.4�
-dZY^xc
.4
)4ww
=��
���
�4
�Qh4

�u4
 F����	�
;4
 14
 =�	���
 ��	��	�	
 ����4
�42
��
�����
�
 �Qus4

�S4
?���������
14
>4�
������
�4
34
;89M�@���@
7��
�
�	���������
�������
�������4
�42
m����	@
��	��
����
 �Qsu4

�h4
}\)X__]^
�4�
(X\�Z]e
'4
 4ww
&d\Z4
���[4
�QSS4
*4
sR4
�4
�hh4

�s4
 ?���������
 14
 >4�
 ?����8��
 14
 F4�
 ���@
��� �4 34�
E8��	���	��
�4
>4ww
��4
�Qs�4
-4
PP4
"4 uhP4

�Q4
>�����
�4
;4�
3���	��
14
I4�
?�8����� 54 G4ww
3
�4
;G
111��
���4
M�
4
�QSs4
-4
P�4
"4
�SQ�4

��4
 ?���������
 14
 >4�
 ?����8��
 14
 F4�
 ���@
��� �4 34�
H���89����
N4
�4ww
��4
�QQ�4
-4
u�4
"4 u�4

��4
<�������
N4
14�
?���������
14
>4�
?����@
8��
14
F4�
������
�4
34�
H���89����
N4
�4ww
��4
�QQR4
-4
uh4
"4
�Qs�4

K������	+L,	&��	αMN	���������"	�	&�������"	���&���$


